Pre-test

Directions : Read the following News and choose the best
answer. (1 - b)

A dog saved a farmer's life

Boza - A dog saved a farmer's life by alerting
his family that he was lying unconscious in a field,
ambulance workers said recently. The dog began
banging on the door of the family home in Morwell,
eastern Victoria, during weekend storms in the area,
Rural Ambulance Victoria paramedic Eddie Wright
told a Boza radio station.

Leonard Richard, 52, had been checking his
property for storm damage when he was hit on the
head by a falling branch on Sunday morning, about
200 meters from the house. He was knocked
unconscious and could have died had he not been
found so quickly, Mr. Wright said. "The dog alerted
them to where he was and went and set down next to
him and that's how they found him," he said. "the
farmer’s wife followed the dog because it was acting
out of character.” The dog was adopted by the
family about 10 years ago.

137 : https://www.dailyenglish.in.th
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1. What is the main idea of this News?
a. Leonard Richard checking his property.
b. A dog began banging on the door.
c. A dog saved a farmer's life by alerting his family.
d. A dog was adopted by the family about 10 years.

2. What does the dog find the farmer?
a. in a field
b. in a street
c. in his house
d. in the morning

3. Why does the farmer's wife follow a dog?
a. because a dog is sick

b. because a dog runs away
c. because a dog was adopted by his family

d. because the dog bang on the door and acting out of
character

4. Who helps farmer's life?
a. A dog
b. Mr. Wright
c. A farmer's wife
d. Leonard Richard

5. Appropriately how old is dog?
a. 200 meters

b. 10 years old
c. 52 years old
d. Sunday morning



Directions: Read the following News and choose the correct
answer. (6 - 10)

A man fired shots at a teenager

Chicago, United States - A Chicago man pulled out a
gun and fired shots at a teenager who lit up a cigarette in
his "no smoking place” SlobovanDjordjevic, 26, picked up
five men at the National Restaurant show at McCormick
place. One of them, Les Reiff, began smoking. Djordjevic
told Reiff he could not smoke and asked him to put out
the cigarette. Instead, Reiff hit him, and his fellow
teenagers refused to pay the fare. The man then got a
revolver from the trunk of the taxi and started firing as
the teenagers fled. No one was injured, but Djordjevic
was later jailed over the incident.

N https://www.buacademicreview.bu.ac.th

6. What is the main idea of this News?

a. A teenager refused to pay the fare.

b. A teenager lit up a cigarette in a taxi.

c. A Chicago taxi driver pulled out a gun and fired shots at
a teenager.

d. Five men at the National Restaurant show at McCormick
place.

7. Where does the taxi driver pick up the teenagers?
a. Les Reiff
b. SlobovanD jordjevic
c. The International Restaurant
d. The International Restaurant show at McCormick Place.



8. Why does the taxi driver shot the teenager?
a. Because the teenagers smoked.
b. Because the teenagers are drunk.
c. Because the teenagers are impolite.
d. Because the teenagers talk loudly.

9. How many passengers are there in the taxi?
a. four teenagers

b. five teenagers
c. six teenagers
d. seven teenagers

10. Who is the man?
a. Les Reiff
b. Cigarette
c. Cormick Place
d. SlobovanDjordjevic




Pre-test answers

¢

D) IRAY
1 C
2 a
3 d
4 a
5 b
6 c
7 d
8 c
9 b
10 d
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Example 1

The Structure of News

A big fire at Sampeang

A big fire broke out at Sampeang last night.
It burnt down 20 shop housed and caused more
than 20 million baht of damage.

The fire started at 7.15 p.m. on the second
floor of Kor. Charoenpanich which was a store
in SoiWanich 1 on Rachawong Road. Tt spread
quickly to nearly shop houses. Twenty - five
fire engines rushed to the scene. They put out
the fire an hour later.

Vocabulary
1. A big fire (n.) Tawalng
2. burnt (v.) L bnal
3. fire engine (n.) INAULWRY
4. rush (v.) 393
5. store (n.) Fiueh
6. scene (n.) soufifiame

1. What is the main idea of this News?

a. A big fire broke out of at Sampeang.
b. 20 shop houses were brunt last night.

} Headlind

>~ Lead

\

> Body

c. Twenty - five fire engines rushed to the scene.
d. The fire started at 7.15 p.m. on the second floor of Kor.
Answer : a.



Write T in front of the statements that are correct and
F in front of the statements that are not correct.

...T... 2. A fire broke out at Sampeang.

... T.... 3. Many shop houses were damaged by a big fire.

...F.... 4. The fire started in the morning.

...F... 5. The fire spread very slowly to nearly shop
houses.

Example 2

A bus packed with passengers heading to a funeral
bumbled down a mountain in Kanchanaburi province on
Saturday. Nine people died and 26 others were injured.

The accident occurred after the driver lost control
of the bus. The driver then fled the scene. About 40
passengers from PathumThani province near Bangkok were
on their way to a funeral of a respected abbot in
Sangklaburi

ﬁlm : https://www.dailyenglish.in.th

Vocabulary
1. packed (v.) uIn

2. heading (v.) | sl

3. funeral (n.) INUAW
4. tumbled (v.) | nnan
5. injured (v.) LAY
6. occurred (v.) | ‘iaiu
7. fled (v.) nauwil
8. respected (n.) |Um=iin
9. abbot (n.) SERRERE




What is the correct heading in this news?
a. The driver lost control of the bus.
b. The driver then fled the scene.
c. Bus Accident Kills 9 in Thailand.
d. The mountain accident.
Answer: C.
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Activity 1

Directions : Read each news and choose the best answer.
(10 marks)

Freestyle football competition
There is a competition in Brazil. It is a competition
in freestyle football. People from 45 countries come to
compete. They kick the ball and do tricks. Every competitor
has 3 minutes. The winner is a man from Britain. His name
is Andrew Henderson. He is very happy to be the winner.
He thanks all the people who helped him.

an https://www.siamsport.co.th

Vocabulary
1.competition(n.) | Mk
2.fr'ees‘ry|e (ad\j.) pIGIIELEE

3.country(n.) Uszine
4 tricks (v.) A
5.winner(n.) s

1. What is the main idea of this News?

a. It is a competition in freestyle football.

b. The winner is a man from Britain.

c. There is a competition in Brazil.

d. Andrew Henderson is very happy to be the winner.
Answer: ...
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Write T in front of the statements that are correct and F in
front of the statements that are not correct.

.. 2. There is a competition in Brazil.
.. 3. People from 54 countries come to compete.
... 4. Every competitor has 3 minutes.
.. B. The winner is a man from Brazil.

Line dancing record
People set another world record. Around 25,000 people
meet in a Chinese city. They line dance. There are 8,000
more people than at the second largest line dance.

v https://www.pinterest.com

Vocabulary
l.record (n.) Ufin
2.Around (adv.) | lawds=anon
3.meet (v.) wunuduaawsn
4 line (n.) uan
H.second (n) feufiaad
6.largest (adj.) | aifg

6. What is the main idea of this News?

a. There are 8,000 more people than at the second largest
line dance.

b. Around 25,000 people meet in a Chinese city.

c. They line dance.

d. Many people dress up as penguins.
Answer: ...
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Write T in front of the statements that are correct and F
in front of the statements that are not correct.

..7. Around 25,000 people meet in a Chinese city.
..8. Chinese line dance.

..9. There are 800 more people at line dance.

..10. Chinese set the second largest line dance.
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Sutution 1

10
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Activity 2

Directions : Read the following News and choose the best
answer. (10 marks)

Example

Thailand's world-famous underwater festival will no
longer be a straight-laced affair, as gay couples will soon be
allowed to join the annual event. The festival takes place in
Trang province every Valentine's Day

ﬁl 41 : https://www.lovedinings.com

Vocabulary
1. famous(ad].) Hiverus 5. province(n.) | vwia
2. underwater(adj.) | Wi 6. couples(n.) fmiinssen
3. festival(n.) INFANG 7. annual(adj.) IEERRN
4. affair(n.) gl 8. join(v.) hsm

What is the correct heading in this news?
a. Gay wedding
b. Underwater wedding festival
c. Underwater wedding goes gay
d. The gay festival in TrangPovince
Answer : d




15

A race is held in Japan. This race is special. The
runners run on all fours - they run on their legs and their
arms. An 18-year-old man wins. He beats a 30-year-old man.
The older man was the best. He is now the second. The
winner's time is 15.86 seconds. His hero is Usain Bolt. His
favourite animal is the monkey. The older man is the

inventor of the sport.
v https://www.siamsport.co.th

1. What is the correct heading in this news?

a. His hero is Usain Bolt

b. Racing on all fours

c. The older man was the best

d. The older man is the inventor of the sport
Answer: .............

This news is from Venezuela. A girl becomes pregnant
very 3 minutes there. These girls are under 18. Some people
think that this is a problem. They do not say that maternity is
bad. They say that teenage girls are too young for this. The
girls have other problems. Their bodies and minds are changing
fast. Having a child is a problem for them. A group of people
put mannequins in a shop window. These mannequins are not
normal. They look like pregnant girls. People see them. They
start to talk about the problem.

lelm . https://www.news.mthai.com

2. What is the correct heading in this news?
a. A girl pregnant every 3 minutes
b. Pregnant is a problem
c. Teenage girls are too young for pregnant
d. Teenage mothers in Venezuela

Answer: ...



A basketball player sets a new record. He is at a court.
He stands near one basket. The second basket is behind
him. It is 82 feet away (25 metres). He throws the ball
behind him.The ball flies over the court. It hits the basket.
People write the new record into the Guinness Book of
World Records. This player set the old record, too. The ball
flew 72 feet (22 metres).

fan https://www.siamsport.co.th

3. What is the correct heading in this news?
a. The basketball player
b. The Guinness Book of World Records
c. New record
d. New basketball record

Answer: ...

A little otter is found. People find her on a beach in
California. She is not well. Her mother is gone. People must
help her. The otter is five weeks old, and she is better now.
She weighs six pounds (2.7 kilograms) and is 22 inches long
(56centimetres).

ﬁan . https://www.chillpainai.com

4. What is the correct heading in this news?
a. On a beach
b. Finding in California
c. Little otter in Chicago
d. Her mother is gone
ANSwer: ...

16
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A man is at a hospital. He is very confused. He is 68
years old. The hospital is in Minnesota.The man attacks the
nurses there. He tries to hit them with a metal bar. He
injures four medical workers. People call the police. They
stop and arrest the man. However, he is not well. He goes
back to hospital, and he dies there.

131 : https://www.ocean.co.th

5. What is the correct heading in this news?
a. Attack in a hospital
b. Confused man
c. The man in the hospital
d. The confused hospital

Answer: ...

This news is from Santiago de Chile. Twenty cars meet
there. They are in front of the presidential palace. They are
special. They are solar-powered. Some of the cars are
hybrids. Some you can ride like a bicycle. The cars prepare
for a race. The race goes through the Atacama Desert. The
race takes five days. It is 870 miles long (1,400 km).

Aun https://www.news.mthai.ccy

6. What is the correct heading in this news?
a. The race
b. The Atacama Desert
c. Solar-powered cars
d. The car at the presidential palace
Answer: ...
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This news is about an animal. It is very rare. It lives
in Afghanistan. It is a deer. It has two long teeth. Vampires
have these same teeth. The animals are in danger. There are
not many of them. They may die out soon. This is because
people catch and kill them. The natural home of this animal
is also becoming smaller.

fan - https://www.dailyenglish.in.th/

7. What is the correct heading in this news?
a. Deer with a vampire's teeth
b. Rare animal
c. Vampires in Afghanistan
d. Animals are in danger
ANswer: ...............

This happens in England. Police chase a car. They go 120
miles per hour (193 kph). There are two drug dealers in the
car. The police film the situation. The drug dealers throw the
drugs out of the car. The drugs are worth a lot of money. A
police car gets in front of the car. There is a police car behind
it, too. The drug dealers must stop. Police later finds the
drugs on the motorway. The two men go to prison. One goes
for 15 months. The other one goes for 5 years.

N https://www.chillpainai.com

8. What is the correct heading in this news?
a. 120 miles per hour
b. Drug dealers
c. High-speed car chase
d. Drugs on the motorway
Answer: ...............
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There were two buildings in New York. They looked the
same. They were the Twin Towers. They are not in New
York now. They were destroyed in 2001. Now there is a new
building. It is the One Trade Center. It has 104 stores. It
cost 3.9 billion dollars to make. One company moves into the
building. It has floors 20 to 44. More people will move in
the building in 2015.

v https://www.pinterest.com

9. What is the correct heading in this news?
a. Two buildings in New York
b. Twin Towers
c. The new building
d. One World Trade Center
Answer: ...

Here is some news from Australia. A man is at sea. He is
26 years old. He sees a whale. It is dead. There are sharks
around it. The man jumps in the water. He climbs on the whale.
Then he stands on it for a moment. Authorities think about
punishing him, but they don't. The whale was dead. He did not
hurt it. The man's parents say that he is an idiof.

fan https://www.dailyenglish.in.ty

10. What is the correct heading in this news?
a. A man is at sea
b. Man stands on a dead whale
c. A whale and sharks
d. The dead whale
Answer: ...



https://www.pinterest.com/
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Activity 3

Directions : Match the newspaper articles with the headlines.
Write the correct headline in the blank. (10 marks)

Two men broke into a supermarket in Italy and walked of f
with 240 tins of dog food, worth Lira 120,000. However, they
did not take anything else from the shop.

NN https://www.news.mthai.com

)

AN A Thieves with Pets
B. Drones fly over nuclear power plants
C. Lava in Hawaii
D. Dancing after midnight in Japan
E. Protest in Hungary
F. Musical keyboard for cat
G. Goldfish beauty contest
H. Lying man from Wales
I. Carving pumpkins underwater
J. Museum of Pablo Picasso

K. Rocket explodes
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1. This news is for people who love cats. It is about a
keyboard for cats. You play the keyboard normally. The
keyboard makes normal sounds. However, it also changes the
sound. Cats can hear this type of sound. Cats can enjoy the
music, tool!

N https://www.news.mthai.com

AN W T o oot ee e eee et eeete et e ereee et e ate et e ate et aeareearvarnnanesaraen

2. This happens in France. A drone flies over a nuclear power
station. The drone does not do anything, but this is illegal.
Drones must not get close to power stations. This happens
seven times.

‘ﬁm . httos://www.chillpainai.com
ANSWEE & et ettt e e e eee e eee et e et ee e eeses es ettt et eaeeneeneereeeeereeraes

3. This news is from Hungary. Hungary is a country in central
Europe. The country is in debt. The government wants to make
the debt smaller. It wants to tax the Internet. A lot of people
don't like this. Around 100,000 people protest. They are at a
square. They hold up their mobile phones and light up the square.
The square is in front of a government building. Some people go
to the building. They break some windows.

ﬁm : https://www.buacademicreview.bu.ac.th
ANSWEL & oottt e ettt ees e et s ees st et s ees e et s st e e

4. This news is from the USA. A rocket lifts off. It carries
cargo into space. The rocket explodes. This happens when it
is still close to the ground. Some people watch the rocket.
They see it explode. They film the incident. The rocket
turns into a big fireball. People investigate the incident.

ﬁm : https://lwww.pinterest.com


https://www.pinterest.com/
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5. Pablo Picasso was an artist. He was born in 1881 in Spain. But
he lived in France. He died in 1973.There is a museum in Paris. It
has around 5000 of Picasso's paintings and sculptures. This
museum is in a large house. The house is from the 17th century.
People renovate the museum. The renovation costs 52 million
Euros. One million people visit this museum every year.

v https://www.news.mthai.com

AN W o oo et e et et eee et e e e e et ete et e ate et erare e e eeanerarann

6. This news is from Hawaii. Some people are in danger there. Lava
from a volcano comes close to a village.The lava moves 10-15 yards
per hour (9-14 metres per hour). Its edge is about 40 metres

wide. It can destroy homes in its way.
131 © https://www.dailyenglish.in.th

AN W & oo et e et e e e e e e e e et et et n et erere e e reaneraran

7. You cannot dance in Japan after midnight. This rule is sixty
years old. This rule tried to stop crime. Now the situation is
changing. Now you can dance in clubs until morning. However,
there are some rules. There must be light in the club. If there is
light, people do not do bad things.

NN https://www.pinterest.com

AW & oo et et et e e e et e e et e et re et ee et er e aare e ne o

8. Halloween is coming. Two divers carve pumpkins underwater.
It is a compeftition. The faster person wins. These people are a
couple. The boy wins. He carves his pumpkin in 1 minute and 57
seconds. He says that it is not easy. You must move slowly
underwater. There are also a lot of fish around.

‘ﬁm . https://www.buacademicreview.bu.ac.th

ANSWBE o oo e e eee e e ee e eereeeere s e eraseeean e aaeaes e aneaenenaresreenn aeeeanaen


https://www.pinterest.com/
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9. This news is about a man. He is from Wales. He takes
£40,000 from an old person. The man must go to court, but
he does not want to go. He tells people he is very ill. He says
that he cannot move his legs or arms. The man is a liar. Police
find a security camera of him. In the video, he can walk and
drive a car. Police show the video to the man. He says that he
is quilty.

‘ﬁlm : https://www.chillpainai.com

Answer .

10. There is a beauty contest in China. It is not about
beautiful people. It is about beautiful goldfish. Around
10,000 goldfish can be Miss Goldfish. There are 16
categories. How do you know which fish is the best? People
look at the colour , the body, and the swimming of the fish.
Goldfish in this part of China are popular. People export them
to countries around the world.

‘ﬁl 41 : https://www.lovedinings.com

AN W o oo eeeeee et ee et e et e e e ee et e e ate et e ate et eare e varenanesaraen
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Sutution 3

U laag
1 |F. Musical keyboard for cat
2 | B. Drones fly over nuclear power plants
3 |E.Protest in Hungary
4 | K. Rocket explodes
5 | J. Museum of Pablo Picasso
6 |C.Lavain Hawaii
7 | D. Dancing after midnight in Japan
8 |I. Carving pumpkins underwater
9 |H. Lying man from Wales
10 |G. Goldfish beauty contest
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Activity 4

Directions : Read the following News and choose the best
answer. (10 marks)

Bicycles

Bicycles are very popular today in many countries. Many
people use bicycles for exercise. But exercise is only one of
the reasons why bicycle are popular. Another reason is
money. Bicycles are not expensive to buy. They do not need
gas to make them go. They also are easy and cheap to fix. In
cities, many people like bicycles better than cars. With a
bicycle, they never have to wait in traffic. They also do not
have to find a place to park. And finally, bicycles do not
cause any pollution!

‘ﬁm . https://www.rider.in.th

1. What is the main idea of this news?
a. Bicycles are popular today for many people.
b. Bicycles do not cause the pollution.
c. Bicycles are better than cars.
d. Bicycles are not expensive to buy.
2. From the information in the News, we know that bicycles...
a. do not cause any pollution.
b. are expensive to buy.
c. are not easy and cheap to fix.

d. have to wait in traffic.

26
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An Earthquake struck Chiang Rai
Chiang Rai -An earthquake struck Chiang Rai around
sunset on March 5th . While it measured only 3.0 on the
Richter scale and lasted just a few seconds, the quake-rare in

the Big Apple-sent residents running into the streets. The
last measurable quake, 6.3, hit in 2014,

‘ﬁlm : https://www.cheaptickets.co.ty

3. What is the main idea of this news?
a. An earthquake hit Chiang Rai.
b. An earthquake is only 3.0 on the Richter scale.
c. An earthquake in 2014 is 6.3 on the Richter scale.
d. People is running into the street.

4. From the information in the News, the verb “rare"” means............
a. common

b. found

c. discovered

d. uncommon
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Good news for residence of Tuvalu

Good news of residence of Tuvalu: The island isn't
sinking after all. Last year, scientists believed that the
island was slipping into the Pacific so fast that they asked
government officials to begin planning the relocation of
13,000 residents. It now seems that the flooding that
caused the concern was the result of a temporary rise in sea
level that occurs in La Nina years.

N https://www.news.mthai.com

5. What is the main idea of this news?
a. the residents prepared to move another places
b. the scientists believed that the island is sinking
c. the island of Tuvalu isn't sinking

d. in La Nina years occurs a femporary rise in sea level

6. What is the good news for Papua?

a. The scientists believed that the island was slipping into
the Pacific.

b. All residents are moving to another place.

c. The government begin planning the relocation.

d. All islands of Tuvalu aren't sinking.




29

Pattaya will become a "paradise”
The Pattaya Metropolitan Administration will establish a
fund for a project to turn Pattaya into a paradise. A BMA
spokesman said the fund would be used mostly o tackle

problems such as garbage, pollution, traffic and drugs, and to
improve access to recreational activities, sports and

education in the capital.
flan : https://www.m.traveloka.com/

7. What is the main idea of this news?
a. Pattaya will become a paradise.
b. Pattaya will tackle problem.
c. Pattaya will be a famous place.
d. Pattaya will establish a fund for a project.

8. From the information in the News, we know that Pattaya.............
a. Will establish a fund

b. Will establish a fund from taxes

c. Will establish a fund from excise taxes for a project
d. Will establish a fund from excise taxes for a project
turn into a paradise
9. From the information in the News, the verb "capital” means
a. beside
b. center
C. hext
d. near
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Dolphin is born
This news is from California. A dolphin lives at a theme
park. She is a female. She is a mother. Her first dolphin is 13
years old. She gives birth to a second dolphin. It is 40 pounds
(18kg) heavy. Vets watch the two dolphins non-stop. They say
that they are fine. They swim together.
N https://www.news.mthai.ccy

10. What is the main idea of this news?
a. A dolphin gives birth to a first dolphin is 13 years old.
b. A dolphin gives birth to a second dolphin.
c. A dolphin lives at a theme park.
d. Dolphins swim together.
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Post-test

Directions : Read the following News and choose the best

answer. (1 - b)

A dog saved a farmer's life

Boza - A dog saved a farmer's life by alerting
his family that he was lying unconscious in a field,
ambulance workers said recently. The dog began
banging on the door of the family home in Morwell,
eastern Victoria, during weekend storms in the area,
Rural Ambulance Victoria paramedic Eddie Wright
told a Boza radio station.

Leonard Richard, 52, had been checking his
property for storm damage when he was hit on the
head by a falling branch on Sunday morning, about
200 meters from the house. He was knocked
unconscious and could have died had he not been
found so quickly, Mr. Wright said. "The dog alerted
them to where he was and went and set down next to
him and that's how they found him," he said. "the
farmer’s wife followed the dog because it was acting
out of character.” The dog was adopted by the

family about 10 years ago.
1w https://www.dailyenglish.in.th

AN
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1. What is the main idea of this News?
a. Leonard Richard checking his property.
b. A dog began banging on the door.
c. A dog saved a farmer's life by alerting his family.
d. A dog was adopted by the family about 10 years.

2. What does the dog find the farmer?
a. in a field
b. in a street
c. in his house
d. in the morning

3. Why does the farmer's wife follow a dog?
a. because a dog is sick

b. because a dog runs away
c. because a dog was adopted by his family

d. because the dog bang on the door and acting out of
character

4. Who helps farmer's life?
a. A dog
b. Mr. Wright
c. A farmer's wife
d. Leonard Richard

5. Appropriately how old is dog?
a. 200 meters

b. 10 years old
c. 52 years old
d. Sunday morning



34

Directions: Read the following News and choose the correct
answer. (6 - 10)

A man fired shots at a teenager

Chicago, United States - A Chicago man pulled out a
gun and fired shots at a teenager who lit up a cigarette in
his "no smoking place” SlobovanDjordjevic, 26, picked up
five men at the National Restaurant show at McCormick
place. One of them, Les Reiff, began smoking. Djordjevic
told Reiff he could not smoke and asked him to put out
the cigarette. Instead, Reiff hit him, and his fellow
teenagers refused to pay the fare. The man then got a
revolver from the trunk of the taxi and started firing as
the teenagers fled. No one was injured, but Djordjevic
was later jailed over the incident.

N https://www.buacademicreview.bu.ac.th

6. What is the main idea of this News?

a. A teenager refused to pay the fare.

b. A teenager lit up a cigarette in a taxi.

c. A Chicago taxi driver pulled out a gun and fired shots at
a teenager.

d. Five men at the National Restaurant show at McCormick
place.

7. Where does the taxi driver pick up the teenagers?
a. Les Reiff
b. SlobovanD jordjevic
c. The International Restaurant
d. The International Restaurant show at McCormick Place.



8. Why does the taxi driver shot the teenager?
a. Because the teenagers smoked.
b. Because the teenagers are drunk.
c. Because the teenagers are impolite.
d. Because the teenagers talk loudly.

9. How many passengers are there in the taxi?
a. four teenagers

b. five teenagers
c. six teenagers
d. seven teenagers

10. Who is the man?
a. Les Reiff
b. Cigarette
c. Cormick Place
d. SlobovanDjordjevic
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Post-test answers

¢

D) IRAY
1 C
2 a
3 d
4 a
5 b
6 c
7 d
8 c
9 b
10 d
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